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BA% 1

e | A |
HEHEH JEUEME | HAL | 4A 5H 6H 7H 8H 9H 10H 11H 12H 1A 2H 3H

BEHCH = 5/12 | 5/26 | 6/16 | 7/21 | 8/18 | 9/15 [ 10/20 | 11/17 | 12/15

W H = 6/8 6/16 7/4 8/8 9/6 10/5 | 11/14 | 12/6 | 1/11
IKFEAT L PEE 5.8~8.6 | pH 7.1 7.2 7.3 7.1 7.1 7.3 7.2 7.4 7.2
b I SR BR R 60 mg/0 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5 <0.5
b5 e SR TR 90 mg/0 5.3 4.3 2.7 1.3 3.8 2.2 2.5 1.8 3.0
)R 60 mg/0 3.0 2.0 <1.0 <1.0 8.0 <1.0 <1.0 <1.0 <1.0
ERo AR 1207 FE560)| mg/0 4.6 4.0 2.4 1.4 2.0 1.6 1.5 2.1 3.2

PRILH - - - - - - - - 10/20 [ - = = = =

A A = = = = = = = = 11/14 - - - - -
7 AV KEME A s s] mg/0 = = = = = = TR = = = = =
FVIE(LE 7 ==/L(PCB) 0.003 mg/ 0 - - - - - - [<0.0005] - - - - -
Yyanry 0.2 mg/0 - - - - - - <0.02 - - - - -
RIS 0.02 mg/0 - - - - - - <0.002 - - - - -
L,2-vruaxiy 0.04 mg/0 - - - - - - <0.004 - - - - -
> ZunTFLo 1 mg/0 - - - - = = <0.02 - - - - -
1,1,1-FJraaxy 3 mg/0 - - - - - - <0.3 - - - - -
1,1,2-NZanxx 0.06 mg/0 - - - - = = <0.006 - - - - -
N ZooxFL 0.3 mg/0 - - - - - - <0.01 - - - - -
FRo/unTI L 0.1 mg/0 - - - - - - <0.01 - - - - -
1,3->7onr o~y 0.02 mg/0 - - - - - - <0.002 - - - - -
1,4- A% 0.5 mg/0 - - - - - - <0.05 = - - - -
Bz 0.1 mg/0 - - - - - - <0.01 - - - - -
FT A 0.06 mg/ 0 - - — - - - <0.006 - - - - -
D 0.03 mg/0 - - - - - - <0.003 - - - - -
FASUINT 0.2 mg/0 - - - - - - <0.02 - = - - -
TUEZT . TVESUMEA Y.
TR O RRAE 2 200 | me/0 | - ) - - ) ) ! ) ) ) ) -
;E%ﬁ;ﬁégg”*ﬁ%m 0.005 | mg/0 - - - - - - |<o0.0005] - - - - -
HRIV LK OZEDLEY) 0.1 mg/0 - - - - - - <0.003 - - - - -
S M DA 0.1 mg/0 - - - - - - <0.01 - - - - -
HHEBLSY 1 mg/0 - - - - - - <0.1 - - - - -
I NI 0.5 mg/0 - - - - - = <0.05 - - - - -
sE K O DAY 0.1 mg/0 - - - - - - <0.01 - - - - -
ST AR 1 mg/0 - - - - - - <0.1 - - - - -
VAL2-VrunTF L 0.4 mg/0 - - - - - - <0.04 - - - - -
TL U BLOZEDLEY 0.1 mg/0 - - - - - = <0.01 - = - - -
139% K OEDILE W 10 mg/0 - - - - - - <0.1 - - - - -
5o M ONEDILE W 8 mg/0 - - - - - - <0.1 - - - - -
)V~ A B (BE ) 5 mg/0 - - - - - - <0.5 - - - - -
IV A E (YR S 50 3 mg/0 - - - - - - <0.5 - - - - -
Tx /) VHEGH & 5 mg/0 - - - - - - <0.1 - - - - -
G A 3 mg/0 - - - - - - <0.01 - - - - -
Mgh e A & 2 mg/0 - - - - - - <0.01 - - - - -
TR IRPERK S AT 10 mg/0 - - - - - - <0.02 - - - - -
Rt~ T AR 10 mg/0 - - - - - - <0.02 - - - - -
70 bE AT w 2 mg/0 - - - - - - <0.02 - = - - -
KIGHEREE 3000 i /m0 - - - - - - 0 - - - - -
T 2 A 10 pe-TEQ/e| - - - 0.022 - - - - -
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BlA% 2

I HITA (L) |
HEHEH JEUEM | HAL | 4A 5H 6H 7H 8H 9H 10H 11H 12H 1A 2H 3H
BEHH = = 5/13 | 5/26 | 6/16 | 7/21 | 8/18 | 9/15 [ 10/20 | 11/17 | 12/15
W H = = 6/8 6/16 7/4 8/8 9/6 10/5 | 11/14 | 12/6 | 1/11
ARG - mS/m 24.0]  26.0 32 27.0 23.0 22 20.0 20.0 16.0
AL A4 - mg/0 13.0 10.0 10.0 10.0 9.2 8.7 7.6 7.6 6.4
I HF R () |
HEH H SEYEfE | HAZ 4H 5H 6H 7H 8H 9H 104 114 124 1A 2H 3A
[ = = 5/13 | 5/26 | 6/16 | 7/21 | 8/18 | 9/15 | 10/20 | 11/17 | 12/15
A = = 6/8 6/16 7/4 3/8 9/6 10/5 | 11/14 | 12/6 | 1/11
BRmEE - mS/m 4.9 4.9 5.1 7.1 7.9 7 4.5 5 5
AL AA - mg/ 0 6.5 6.2 7 9 75 4.6 3.4 3 4
PRILH - - - - - - - 10/20 [ - = = = =
W H - - - - = = = = /14 | - = = = =
HRIT A 0.01 mg/0 - - - - - - [<o0.0003] - - - - -
BTV wttiEnaecs] mg/0 - - - - - - Ak - - - - -
& 0.01 mg/0 - - - - - - <0.005 - - - - -
A= 0.05 mg/0 - - - - - - <0.01 - = - - -
[ 0.01 mg/0 - - - - - - <0.005 - - - - -
KR 0.0005 | mg/0 - - - - - - [<0.0005] - = - - -
7L L KGR s s| mg/0 - - - - - - ERut - - - - -
JunuxTF Lo 0.002 mg/0 - - - - - - [<o0.0002] - = - - -
AU LY 7 ==L (PCB) itiseoze[ mg/0 - - - - - - AR - - - - -
TranAzR 0.02 mg/0 - - - - - - <0.002 - - - - -
RS 0.002 mg/0 - - - - - - [<o.0002] - - - - -
L,2-Yruuxiy 0.004 mg/0 - - - - - - [<o0.0004] - = - - -
L I->ZunTFL 0.1 mg/0 - - - - - - <0.002 - - - - -
12— /unTFL o 0.04 mg/0 - - - - - - <0.004 - - - - -
1,1,1-FJZaaxy 1 mg/0 - - - - - - [<0.0005] - - - - -
1,1,2-NZanxx 0.006 mg/0 - - - - = - [<0.0006] - - - - -
N ZooTFL 0.03 mg/0 - - - - - - <0.001 - - - - -
FRo/unTI L 0.01 mg/0 - - - = - - [<0.0005] - - - - -
1,3-vranra~y 0.002 mg/0 - - - - - - [<o0.0002] - - - - -
1,4- A% 0.05 mg/0 - - - - - - <0.005 - - - - -
B 0.01 mg/0 - - - - - - <0.001 - - - - -
FT A 0.006 mg/0 - - - - - - [<o0.0006] - - - - -
D 0.003 mg/0 - - - - - - [<o0.0003] - - - - -
FASUINT 0.02 mg/0 - - - - - = <0.002 - - - - -
L 0.01 mg/0 - - - - - - <0.002 - - - - -
o 8 mg/ 0 - — — — - - <0.1 - - - - -
ESES 10 mg/0 - - - - - - <0.02 - - - - -
TUEZT . TVESUMEA Y.
T B O Aty 1200 me/l ) - - - - - R - - - -

FHORERIEICR LI TOD < IZOW TR EERLET,

[#5: <0.01—0.01A43]




